Arc Problem Note Guide

Red Elk hits a golf ball at a speed of 41.3 m/s at an angle of 78.2o above the horizontal.  Assume that the ground is level, and ignore air friction.

a) What time is the ball in the air?

b) What is the horizontal distance that the ball goes before striking the ground?

c) What is the speed at the highest point on the ball's trajectory, and what is the greatest height?
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Suppose there had been a very tall wall 60.0 m away from the launch site.
d) At what time will the ball hit the wall?

e) At what height will the ball hit the wall?

f) What is the velocity of impact with the wall in VC and AM form?

	H
	V

	x
vi
vf
a

t
	x
vi
vf
a

t


